
Igualdades (B)Halle los valores de cada incógnita.
22 + 24 = 25 + ∇ 15 + ⌓ = 21 + 19
7 + ⌷ = 16 + 15 23 + 6 = ♡ + 22
5 + 17 = ⍟ + 13 24 + 23 = 22 + ∎
17 + 14 = 22 + ⍟ 14 + ⍟ = 1 + 19
∆ + 22 = 13 + 15 4 + 24 = ⨳ + 17
18 + 17 = 20 + ⨳ 3 + 24 = ∆ + 3
15 + ∎ = 18 + 18 ⧉ + 5 = 22 + 1
⊞ + 17 = 12 + 6 22 + ∆ = 22 + 9
15 + 4 = ▭ + 2 5 + ∆ = 4 + 7
12 + 14 = ⌷ + 1 3 + 25 = ⦿ + 12

MatesLibres.Com



Igualdades (B) RespuestasHalle los valores de cada incógnita.
22 + 24 = 25 + ∇ 15 + ⌓ = 21 + 19∇ = 21 ⌓ = 257 + ⌷ = 16 + 15 23 + 6 = ♡ + 22⌷ = 24 ♡ = 75 + 17 = ⍟ + 13 24 + 23 = 22 + ∎⍟ = 9 ∎ = 2517 + 14 = 22 + ⍟ 14 + ⍟ = 1 + 19⍟ = 9 ⍟ = 6∆ + 22 = 13 + 15 4 + 24 = ⨳ + 17∆ = 6 ⨳ = 1118 + 17 = 20 + ⨳ 3 + 24 = ∆ + 3⨳ = 15 ∆ = 2415 + ∎ = 18 + 18 ⧉ + 5 = 22 + 1∎ = 21 ⧉ = 18⊞ + 17 = 12 + 6 22 + ∆ = 22 + 9⊞ = 1 ∆ = 915 + 4 = ▭ + 2 5 + ∆ = 4 + 7▭ = 17 ∆ = 612 + 14 = ⌷ + 1 3 + 25 = ⦿ + 12⌷ = 25 ⦿ = 16MatesLibres.Com


